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JEE Mains Problems

If T, is the rth term of an _A_P, for r=1,2,3, .... . If for
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some positive integers m_and n, we have 7, = — and

T, = l then 7,  equals
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The sides of a right angled triangle are in arithmetic
progression, If the triangle has area 24, then what is the
length of its smallest side? & (2017 Adv.)
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I@l If a,,a,,as,... are in AP such that a, + a; + a,5 =40,

= then the sum of the first 15 terms of tﬁs APis
(2019 Main, 12 April I1)
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For x € R, let [x] denote the greatest integer < x, then the

sum of the series Weus mamy towa: (00
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S= % = ot %O p =[s0-34 [

Let the sum of the first n t7erms of a non-constant AP 2
a,, Ay, A3....be 50n + nin-17 A, where A is a constant. 5,=a+0x = 163 -58
. : 2 . QG +awd Ztop-5H
If d is the common difference of this AP, then the
ordered pair (d, a;,) is equal to (2019 Main, 9 April 1) > foo~h+d =196-58
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I@I The sum of all two_digit positive numbers which when

8y divided by 7 yield 2 or 5 as remainder is
- (2019 Main, 10 Jan I)
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30
I@I Letal!agy ----- a3obeanAP,8=ZGi and

i=1
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T=3 ag;y fa; =27 ant;{S -2T = 75,1

i =fl,_

then a,, is equal to (2019 Main, 9 Jan I)
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30 Yiom m'\'twd' H-’P“'
i Let a;, @y, ....ag be an AP, S = Y a;and gl
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then Qg is equal to (2019 Main, 9 Jan I)
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T If the sum of first n terms of an AP is £n2, then the sum
oy of squares of these n terms is (2009)
n(dn’-1¢* — n@n®+1c
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Let a, band cbe in GP with common ratio r, where a #0

and0 <r< l If 3a, 7b and 15care the first three terms of
P =

an AP, then the 4th term of this AP is

e
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@ If three distinct numbers @, and c are in GP and the b= qc.

Y equations ax” +2bx+ ¢=0 and dx + 2ex + f=0have a
common Troot, then which one of the following

statements is correct? (2019 Main, 8 April I1)
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Let a,b and c¢ be the Tth, 11th and L3th terms
respectively of a non-constant AP. If these are also the

. ——— a .
three consecutive terms of a GP, then — is equal to
—_— ¢

(2019 Main, 9 Jan 1)
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T If a, b and cbe three distinct real numbers in GP and o
o — = ~a.cC.
o _-a+ b + ¢ = xb, then x cannot be (2019 Main, 9 Jan 1)
(a) 4 (b2 © -2 (&) -3
arhb+C = b .
ok oo = X (ose) - 7 230 x40
) Fou v o be olisbd
|47 £ = xh ¢ =2
L >2 et &1‘451
o 4 £ <+ l'}-&\ .
h >l >2 o~ £— 2
)XW= 91'\’—|:,1+|I > X< —|
-\
ol



JEE Mains Problems

T If the 2nd, 5th and 9th terms of a non-constant AP are
-8 in GP, then the common ratio of this GP is (2016 Main)
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20
1.
G The sum kaz—le equal to (2019 Main, 8 April 1)
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. Let S, —1+g_+q+ +q and Ljs*ﬁ-'(—l—j)
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The sum of an infinite geometric series with positive

) ) . 2
terms 1s 3 and the sum of the cubes of its terms is —7
—

—

Then, the common ratio of this series is =
(2019 Main, 11 Jan |)
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T Three positive numbers form an increasing GP. If the
8 middle term in this GP is doubled, then new numbers
are in AP. Then, the common ratio of the GP 1s

(a) V2 + /3 (b) 3+ V2 (2014 Main)
(c)2-+/3 N \}dﬂ-i- NE]

a, 2&,-061 AP
Jt

g~ & +an. =) L -~ 4
n Jv

S 9% gnri= D ) =243



JEE Mains Problems
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